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01 “Which of the following |§ cqu val ut to the unit of power, wali 7 . IRE
() Nms’ | (2) sth (3 Nms {4 Nms' .(S){.:fi'ﬁ.mzls
. ‘02_ ’I}cdlsp]utcd‘lc 1 (s) ofa philnc\ic hi"i]'ncft) movmg .nJe- a&mform acce‘crutmn (a} |Sgive_n b'y,thi‘: Expression
s=kat’. Theconstant 'k has. §- oY o S .
(1) dnrcnsmnb- (2:1 d'nlcmman "3" d=mcnaho-u,. (4) z:zmersionLT': r;g,d.’m,ension.
03. Thesymbol of the um'tbml}s lu te temperatur ckelvn'sw'ltt.,nas : . .
' F
(1) & C 2K, @ BRORES fs: %k
04, :‘mcoiiis'onbchvccn“wnl;uodi"és,linea'ruwmentun isconsered - - K P .
(1) Only:t‘k.nctc nerbyi,scmmtvcd‘ o (2) OnlylffO'i.'ElHICC!IHI”PE:EI'IEI'EyiSCOPSC.’H’Eﬁ

(3) Onlyifd the bodies are n’\t permanently defomed (4} Cnl yi ifnoc external forcesactonthe bodies. -

rS) anaws Lo N . o
05. A 2000 kg car rests on' four ‘yi'es each of wluch arc inflated to a pressure nf 200 kPa f%ss’%ﬁgi}:g the four tyres .

smppomtheweng it cqw*”y Twarrao ccauiactafeacr*‘yrew;ﬂ&ihe*cm is - .-i'x- N
) 0025 m® (@ 00l'm’ (3002’ 4. 020 m® .- (5) 025 m*
*06. Whichofthe :oliowm isnotdue otileeffectofsarfac°lers:on' O e o
N Sj:hef;cais'hapea muuddmps L £2) . Flow of aliquid through 2 narvow tube.
-{3) Soreadingofliquidson'solidsurfaces. . . (4). Insects walking or waier surfaces. )
(5). Reaching axo;.,a'i:“hetlpm:he wick inan'oil lamp. Lo : . o

.07. “Cousiderthe foliowing s..atenentsmade aboutwatervnpour present in the a:.mmpﬁ?r
o {A) Relative hu 'mid ?of&dwatuosphere is am-'ays very smali.
{B). When the EbSD.Jie humidity of the atmosphere is low, th e relative humidity is ‘also Io'm!,

. (C) Whanzherelativéh umxdnyoft.lemmosp.-ere=s:cw he dcwpc*i’:.ﬂft’eg.:rssspm"'essalsoi ow. .

' - Of theabove siatements. * L ) R

| (D) Only(A)istue . (2) Only (c* ists . (3) Only (B) and '(C) are trie . -
IR " {4) Only{C)and (A}arF'uLe (s all{A), {B)am{ﬂ)m true R

)8, - Which of the following siatements made about a thermocouple is incorrect. '

o (1) Thermocouplesare usual ly made of wires of iwo di fferen‘tnwtaraa.s T

2) Thermow nclrt cpraperiyo"‘hf”l'iemucauple 's 'L‘IE e.m. f o S i
€y _nernocﬂuplerasa.argeheahapnmty e S
e "{4) Rangeofatheimocoupleis .algert'aantﬂ.a:ofamércurythazmometea 1
T - {5) Thermocouple! is less sensi! vftiﬂanagasmemomems. Co ST S
9. Asm;.r%upsecccurscmy ' ' - S 4 :
(A) Ornanewmoon day. N LE L
7 - {(B) Whenashadowo ftlseeamlobsrurepano_‘ﬂen‘oon : Lo .
) (C} Whentheeartliisin Latwrensmmndth... moor. S AT

-
R

Ofthe above stat einents, - 5 e ‘ it ;
e (1) QOnly 1A)ts.lrue. T . {2) OCnly(B)istrue, (3)  Only(Cisirue.
- ~ (4) Only{A)and(B)aretrue. * . {5) Only(B)and(C)aretrue. > '..‘ o

10" Consider the following statements made regarding apucal insturments. i
(A) Focasmg in a camera' is done by moving the lens whereas in the | human aya’ ifzis is achieved by

, changing the }owe ofthe lens. :
. (B) Whena te;ascope is adjusted for viewing o di stnnt object with minimum eve s::*ain, its :::agniﬁfing-
pnwer:sue atnof‘lllaf‘ocai lengths Df"neo.);f’ctwemmwemece : e '

{5 m Terrestini m:escobes :md con;pmlru nu.rosa.onr.es the eyepmc.as acl 83 s:mni o iflers for -
. \'lt'me the lmﬂjlz Ji"'!i‘ : R -
Qthe nbove -swbwmems ‘ . b
(13 Oniy (Aisirue @) Oniy (B) is trite. (3) Only (A) and (B).azs true.
¥ e {3) Oaly (A) and (B).ars\ true.
(4) Cr‘ly(“)ﬂ!‘d’{:)ﬂletr.iu. (5) - all(A), (B)and {C) are true. . B
’ . , 'l] 1 --- . . L R - Y. 2 . i ‘I'-.ls:-. . L -
-t 4. v e : , Gl . . . L 1"----u-'f"”"
T ’ . ' oyt ey
! - \"BI.H" l,l--‘ U
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tCnnslder'l.mfo ilowing statements made about sound waves / o do '
(Ai.\ |éF&um‘l waves are transverse in soiids. ' . .
(B): 'Sound waves are longitudinal in gases. = ¢ S
(C) Velocity of sound waves depends on the propertics of the mudlum ' i

Ofthese statements, o
ot (1) Only (A)istruc (2) Only (B)is true. (3) Oﬂ}y {C) is true.
Y@ Oaly(A) and (B)aretrue.  (5) Only (B)and(C)are tn} i

Resonance occurs when an object s forced to vibrate by external vibrations thata ]
(1) atahigh frequency. (2) atalowfrequency () oflar e :]mphtude-
(4) &pfaow amplitude, (5) matchedtothe natunlﬁequencynfthanbjecs.

Astep- up transformer is used to increase, - .

_(1).*Curtent - {2) voltage.- {3) Energy - (4‘ powe*_ ‘ .f (5) alloftheabove

If 96485 Coulombs of electrci ty will liberate 1.008g of Hyd;ogen‘.\ 1OW 'many grams of lead

* (atomic weight=207)can be deposited with the same quantity of electricity. 4

20,

21.

(1) 1008 - (2) 1035 (3) * 207 @) 414t sy 945
'l'ecnrs.e'ltthroughaﬁﬂWhgi bu!acunnectedm?dov ac.mainsis ;7 . '
y y A @D %A . @) lA .. @ 24 (5) 44 -

Alightbulb isconnected o abatiery as shown in the figure (A). fthe eircuitist 1mz‘f.:"lhed as slmwn in ﬁg1 reB

(1} " thebulb glows with less b"lghtness

'®——-1
(2} thebulpgiows wzm more brightness. _ : L '— {
(3) thebulbgoesoff, : ) L L *—~l——- _I_ -—-{I—
4 hngl‘tness ofthebulbremainsunchanged. - S S A B)

(5)~.4 the. .:-uih dimsg momentarily and regains its brighinéss. )
‘A cu*’eni 118 passed through two opposite faces of a conductrg ¢ube of | ength é‘as ahﬁ:wn'in the figure, If the
resustmty ofthe material is p, Lhaxeemmrr ofthe cubeis given ny Yo AN )

o A
(!\ —— i 2 ' ! i ! 3 N
T @ p .. (3 5 T
@ B ) - ‘ TR
Aluhricaniui[shou!dha‘.{a. - L IR I - 'J
(1) ahigh surfacetension. - + (2) ahighviscosity. |
(3} a'lb‘w'scasity . T (8) alhwsurfaéetgnsioﬁ. _ ST [
.(5) ahighsurfacetens: nna::dalowvnscusry ; S ! _ ' "
The displacement (s} with time (&) of an object is shown in the f';,ure thh Gftt*e i R
fmlowlrggm:hcbes;repr?se; .s‘il‘e"hewlomty(v}uft[:aob_;ecmﬂhttm..(i)? - ' ' f
\;T VT ' V‘ . - s |
I R : .
l : g .(r l :
oL [ -
I [T -
L S SO W 1
ay oo @ e @ oL 5 A

A ball of "ha:s 0. I kg is thrown duectly against a wall I will: 2 speed of IG ms” and it rePuunds in the opposife e
direction witirthe s'.,me speed. [ the bail was in co-wactwri_h the wall for 0,02 s, !Iief.v_r:*aTe force chﬂEd by the

bail onthewallis - _ ~
“J 200.. N r:g; 100 N (3) 20 N (4) 001 N (5) 0.002 M. . -
A cork thade nf a material of density 200 kg m” s Inamg in water of'density 1 000 kg m . The fraction of the IT

va ?ume%“ihe_curk not submerged inwater is : y N
) 1 i 1 3_ ' p ] , 5 A, r—w,l
DR S @ 5y P 3 A
o : TP v | i3

x ; ’ ) . . N I . . r—\1l
1 Vv . : : . 02 ., K ' R
i F I D'

!
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25.

%;ﬁi:;sfder tlle following_sta;ements made regarding the heat capacity. -
(A) Heat capacity of an object is the energy needed to raise its temperature by one degree,
(B) Therate of cooling of a heated object depends on its heat capacity.
(C) Theheat ca;ilacity of an object depends on the mass of the object.
Ofthe above statements L -
(1) OnlytA)istrue. B ))

. 2) Only(A)and(B)aretrue.  (3) Only(A)and (C)are tue.
"{4) Only(B)and(C)aretrue,

. (55 all(A),(B)and(C)aretrue. _
23. Iftheavagodro's numberis N and the gas constant is R, the number of gas molecules in a cubic metre of an idea
gasatSTPis ' - '
1.01 x 10 : : 5 .
() —b— (2) 1‘21_’{_10 xN 3) - R"‘?jﬂ_ .
ﬂxzrs-lm R x 273 . .07 x 10°x N
- " 1.01x 10°XRx N N - |
@  —— " ) L,
_ 273 - 1.01x 10°x 273
24

| . -
. Asealed cylinder contains a perfect pas at 20°C and

d one atmospberic pressure. To increase the pressure of the gas -
by three fold. Its temperature must be increased to '

(1) 60°C . @ 313°C (@) s06°C (@) 606°C 5) 660°C
A wedge if formed out of two plane mjrrors by placing their reflecting surfaces facing outside. A
beams of paralel light falis close tothe edge of the wedge as shown. It is found that the two beams
reflected f:"_?rn its surfaces make an angle of 40° with each other. The ang'i'e*aemeei: the mirrors is

M 80" @ 60 @) 4 @y 20" 5 i

20. Consider.the following statements maderegarding light rays.

(A) When light rays strike a smooth surface both reflection and refraction may take place ina
plane containing the incident ray and the normal to the surface at the point of incidence.
(8)

Images formed by converging rays are real and images formed by diverging rays aze
virtual. |

(C) Whenaray of light is incident on a rarer medium at an angle sma!ler than the critical angle, it is totaly
reflected. o : I . :
'Oftheabove statcments, e s '
- {1) Only(A)istrue. (2) Orly(B)istrue. (3) OCnly(
(4) Only{A)and(C)aretrue.- *(5) all(A),(B)and{C)arettue.
27. Consider the following statements made aboutarainbow. '
' {A) Toseearainbow the observer must face the sun.
" (B) Inthe formation ofarainbow lightis refracted as well as reflected.
" {C) Arainbow isformed duetothie presence of water droplets in air,
Ofthe above statements. N o -
(!) Only(A)istrue. =~ | (2) Only(C)istrue. (33) Only (B)and {C)are true.
(4) Only{C)and(A)aretrue.  (5) ali(A),(B)and(C)aretrue.

A) and (B) are true.

28 ifthe velocity of sound in air is 330 ms' the minimum length of an organ pipe, that is closed at one end and hasa )
: ~sonent frequency of 440 Hz, is ' :
3 3 : 3 - 3 ~ 3
n = ) >m B = m @ =m O =m
) D). T m @) g 3 7 (45 T TR
29

. _ A copper wire with length 5 m has a mass of 0.06 kg and is under

a teasion of 750 N. The velocity with-which
transverse waves will propagatc aiong the wire is O

. l_' - — d ’ re——
(H "l TOX5 gt (™ ffS X008 s (3}\‘ sl T s
0.06 - f 750 5

' .
@- [ 206 (5) Il 750 .
ms _ — - mSs
J 750 x § :

N 03 5
I
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el ] . | 1;3\ ‘\&Q\ ,bor"d.
S : " W W
. ) 3 \ - west direction.the current id dire DTS,
30. A long straight wire carryinga currentis fixed along the East-wes . ect of 1 rected topy , oA
: ol 4 close-th the wire. If the effect of the earth’s magp,,. ™S Wes§
and a magnetic compass is kept right below and c.ose’l _ | Setie fiag R
o H int ds. . P -
negligible, the compass will pnmE tol\la_x«'ar ) Wes (4) South () Ay diree
i (1) North e T N » ate connected to a resistance R ag gho 0"
@ Two cells each having an em.f. E and internal resistance 7y : | e Wninthe . 7
figure, The current through the resistoris ‘ ,_'_._h_;" R
- @ - B 2 I s
i 0 ) —,E"F - R+7 ' R i )
. S | ‘»w—‘vw;_ ' L
. E 2E . . “ .
(= T"t—+-? ) r ! : ‘ S "'_E
. . —_— . - i T
2 R+ 2 . " L :
. C . R TR Rt i tectric kettle of 2kW for 5

37 If the Electricity.board charges Rs. 1.50 for a unit of electricity, the-cost of using an ¢ or >
minutes wiil be L . . : )

. : - o 5) Rs.0.10 .
. W RLSC. ) Rs100 () R0TS, (4) Rs.025 (3) -

17 o - A q . " - T '

33,) If each resistor in the network shown has a resisiance of 2 {2, tiie sqdlvﬁ-i?m L
resistance between the terminals A and B is ' o N """‘":'_? -

1 - g 4 : - ;
1y - 3 Ly y
B a2 O -0 @ 10w F0 & 2
. " . . - .. A _l'

34. Wlhﬂ?i a.certain electrical appliance is plugged into a 5 A'socket ina properly : i/"‘ L"ii .
wired hm_:se, the electricity in the entire house goes off. This could possily be- bl e ~ B
dueto : . - 5

(A} the leakage of current to the earth through the appliance, S %
(B) ashoricircuiting of live and neutrai wires inside ihe 2ppliance. ? : o
(C) the very high current rating of the appliance which exceeds the cucrent rating'of the main fuse In the
house. . . e . T .
Ofthe reasons given . _ - . .
(1) Only A is true. (2) " Only Bistrue. {3)- OnmlyCistrue.
) (4) OnlyBandCaretrue. - (5) aliA,BandCaretrue. = ... ‘
35. Anobjectmoving in the X - direction with a constant velocity (V) isacted on by a comstant force F intie
Y - direction for 2 duration of time t. Pathoftheobjectin the XY plane ishest represenied by. T
Ya B Ya . - YT - : Ya Y :
_ AT T . S E : ! / .. 3_ . .
o . . PO . . — b 4 . a_ ‘
O o) VAR AT e S 6 /
a— t ) ] . L I i I_: 1 : A |
' - - S - : T
o= T Ty G &> °x sTESTR I o e K
Vi ‘ vi ¥i Wi i i

36. A ball is thrown straight up from the edge of the reof of a building, which is 20 m above the ground and upon
coming down the ball just misses the edge of the roof and reaches the ground.if the e:‘;_tﬂ&e journey takes 4 s the
initial velocity. with which the ball was thrown up.s. - :

' I Co et " e ¥
() lms’ (2 5ms’ @) loms.  (4), 15ms (5) 2Cms
37. A thin walled cylindrical jar of weight W floats upside cown In 2 large vessel of water o .

as siown in the figure. The pressure insidethe jar depends on
(1) theweight W only. ' o

(2) theweight W and the area of cross section of the jar only. o | ===t oI
(3) theweight W area of cross section of the jar and the atmospheric pressurs only. o =

hye arl helaht : el & § i

(4} theatmospheric pressure, heightof the jar and the density cfwaj.er oniy. !

(5} the weight W. density of water and the atmospneric pressure on.y. |

. _ | p

i

|

04 |
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46. Theelectric field and the noten‘ha inside an uncharged isolated copper bml are mma-!y zero. |f negative charges
are placed on the bail, the eiectric field (%)

(Edande lectric potential {V)inside the bail wili be [
E Y, : _ \ '
4y ‘zero zero . ' _ .'|
(2) zero negative i
3) negative zero ! ' '
(4) negative ﬁe;_.,m';ve . '
(5) positive negaiive. | I
47. Anisclated metai bali Z cairying a positive cliarge is brought near iwe uncharged and isolated meta! balis XX and
Y-as shown in the figure, Balls X apu Y are then Joined i"‘E‘l‘ii‘:mai‘"y by a wire and subseqaer-t'y the bail Z is
removed. When tiisisdone ' s . 1
’ (1) bails Xand Y arestillun cnurwad . : : . y z
)

balls X and Y both become positively charged. ' v Q “— )

(3) ballsiand Y bothbecome mgatweljﬁ charged. : \D Q . 1

(4} " ball X becomes negatively charged and Y becomes positivaiy cher ged. -

= (5) bali X becomes positively charged and Y becomes negatively charged. N o

{: @ If each ..anacitc}r hasa capacitance of 2 &4 F, which of the foliowing circuit Hasan equivalent capacitance of l
0.8 uF. |

[—H—d

N = . . . AR P . T
] lh _ l—!—ﬂ_'l i"l.l'al"! I"] S
e ﬂ—\‘-'Hr‘P’ *‘_ i nlaial N iiade FU o
._‘I 4! SIS i
- : :I: ) (€) I O] R 4
49. A small charged oil droplet of smass m and charge q js placed stationary ,
between two nm*zmta metal’ plates kept at a poteptial difference V and *
seaarated oy adistance d asshownin n the figure. [ .tneup..a*as.act..gon the _ E-«f
oildropleti sr?guglmemm v o !
(n- = g ‘@ ¥ = mg __{3} 3'_&_ ='mg 4| c m v o
d’ o : . [ A "f
W —E— =g ) 9 =mg : - J
4 T €, d

50. Three identica! lightsoring baiances are connected tngethc* toforman equ;a‘teral triangie as shown in the ﬂgure.

[
ifthe airangement is subjected to three equai coplanar fcrces o“l{m znd the eysum isin ?qumbnurn {hereading
onany of the balanecs wili be '

M 53N @ wen G Ly

= -
{3 -z
@w kNG o .
3 b
5i. Abody of mass m 'ust rests without sliding on arcugh ."‘cs ined pl“ﬂe as shown.
in the figure. When the inclination of the plane is increased from 30° to 60° Eha i
body will move with an acceleration of _
m -t @By 5y
— 3 78 .. T2 ; |
s g - . _ % .
4 g -0 = |
52.

f
An illuminated object and a screen are p'aced 1.5 m apart. A lens kept in | between produccs an inverted.image 0

twice the size as the object on the screen. The object distance and the type of lens fﬁqL"J“*d for this is,

(1}. 50cmandaconverging iens. - (2) 50cmanda dwergmgl?ﬂs
{3} - 100 cmand aconverging lens. (4} 100cmandadiverging lens.
(8) 50emandaconverging lens. !

L
=]
(=}
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16. The eiectric field and the potentia! inside an uncharged isolated copper bail are initially zero. if negative charges
are placed on the bali, the electric field (E) and electric potentiai (V) inside the ball wi!i‘ll'oe '
& A
(n zero zero
(2} zero negative . l
3) negative zero
(43 negative negative :
5 posilive negative | . ' ’
47, Anisolated metel bali Z carrying a positive charge is brought near two uncharged and usolate_:fa metal bails X anfi
Y as siiown in the figure. Balls X and Y are then Joined mementarily by a wire and subsequentiy the ball Z is
reinoved. When this is done ' | :
' {1} balls XandY are stiil uncharged. e e
(2} balls X and Y both beceme positively sharged. ' | Q Q L.
(3) balls Xand Y both become negatively charged. ) . . .
4} bali X becomes negatively charged and Y becomes ;Jos'itivz'!? charged. Jm | '
(5) l?ai; X becomes positively charged and Y becomes negat.ive!y.c!‘iargad. o "’L‘"’ |
k‘@-ﬁj If eack capacitor has & capacitance of 2 4 F, whichof the following circuit hasan equivalentcapacitanceof =
~ DB uF | " : ' ' ' 1 |
) l—::'_‘] i ri aial HHH R
g e I ol I ol BN
e HE LT g
| Tm @ @y - W - ®
49. A small charged oil droplet of fpass m and charge q s placed stationary _
_between two horizontal metal'piates kept at & poteniial giﬁe:a:ac@ V and ' b
separated by 2 distance d asshown in the figure. If the uptiirust acting on the
il dreplet is negligibie, then : Lo
(1) - % =mg @ eV =g B Lo ai om v
@ = —mg 9 gd = mg

4T gy d _
30, Tiree identica! light spring balances are connected togethier:o form an equiiateral triangle as shown in the figure

ifthe arrangentent is subjected to three equal coplanar forces of 10N and the system is in equitibrium the readin
onany ofthebalanecswilibe ' ' '

7108

” _ N 10 TN
() 53N 2 wN @) =N
o B
4 =N &0
. 3 .. |
. : 'i 3?
51. Abody of mass m just rests without siiding on a rough inclined plane asshown. | . 1N
in the figurs. When the inciination of the piene is increased from 30° 0 60’ the - //
body will move with an acceleration of | ' {E”
w . - :
y B WE S WL RN
.(1"' 6 (2) %._ g 3) N ed = 1)
@ g ® &

Scanned with CamScanner



-

il

i

53,

b=

34,

) | . 30
Aboy looking through!
a hin flat glass waill of
a fish tank sees a fish|
swimming towards|,

“hin. Which one of the!
folowing grapis best |
ii lustrates the variation [

offithe apparant lenpth

ofthe fish{/) as seen by %he boy with the distance (d) of the fish from the glass wai.

d > L d — e
&)} : (4) 15)

|
Far an ideal gas at absolute temperature T, the average kinetic energy of translation of a gas molecule is

23 " ) . _ [
E =73 kT, where k_isthe Boltzmanr constant. If the volume of a giver mass of the gas is kept constant and the
pressure is doubied, E will increase by a factor of

OIS L@ 2 () 4 @ 6  (5) 8  —e— A
Imthe circuit shown, the batteries have negiigible internal resistances the current ;,J_ 4n —l
thuough the 42 resistor is ' T T
M A @ a4 @ Fa O a0 a4 R
. P | i - g
56. A coil of wire is connected to a circuit cortaining a buttery and a light buib as |
sizown in the. iigurr., Alpiece of sofl iron is then inserted into the coil, kept it |
stationary inside the coil for some time and sub ntly pulled out. Which of the
ry ome time and subsequentiy pulled ou ichof i [:‘;, &M}ﬁn _“_x!:.
’ |

57,

- 58.

59.

60.

folowing correctly represents the variation of the brightness of the bu!b in the
above three operations? ' : Co

Astheironsisinseriedin - Whenitisstationaryinside Astheironis putled out
(1) dims ' - nochange : ‘beccimes brighter’
(2) becomesbrighter " nochange .+ dims
(3) dims - dims dims
{4) becomesbrighter . ~ becomes brighter - becomes brighter

s

(5) tochange . nochange nochange ., _ 1, s
Two metal bars A and B with linear expansivity &, and ¢!, have lengths Ly 2nd Ly E ‘_'__—'ﬁl«—t_—:i
such that L, o, =Ly O, the two rods are boited at one énd and kept horizontally as - i
shown in the figure, when the temperature of the system is raised : T

(1) barswillremain straight and the separation L between the two {ree ends will notchange.

(2) . baiswillremain straightand the separation L between thetwo free ends wil! decreasc.

(3) bars will remain straight and the separation L between the two freeends will increase. -

(4) barswill bentupwards and the sparation L between the two free ends will not change.

~ {5). bars will bent downwards and the separation L between the two free ends will not change.

A thin"wire of length / and mass m has a semicircular part in the middle as shown in figure, and it floats
horizontaliy on a liquid surface whose surface tension is T, if the surface ' ' :
tension‘of the liquid on one side.of this wire (ie. side A} is changed to T, then
the wire will begin to move with an acceleration of

() 1T, -TY)/m  (2) (*-’2--+n:} (T, - T)/m

@) (-+2m) 1+ Tym @) IT,TAT,+Tim () {_2'*";"_} T, - Ty/m

A metal ball is projected vertically up from the bottom of a deep lake with a velocity greater than its terminal
~velocity in water, The upthrust acting on the ball is negligible. Which of the following is correct regarding the
subsequent motion of the ball in the lake? * : '

(1) Itmay achieve the terminal velocity during the upwaid journey.

(2) 'ltwilldefincteiy achieve a terminal velocity during the upward journey. -
(3) Itmay achieve the terminal velocity during the downward journey.

{(4) itwill definetely achieve the terminal velocity during the downward journey.

(5) Itwillnever achieve the terminal velocity curing the course of the journey.

Four stainless stee! elc stric kettles A, B, C and D each having a flat bottom of area of cross section 3 10°m'and
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ketties \, B, Cand D arg 750 W, 1'0?0 W, 1 500 W, and 2 000 W respectively. The cocfficient of thermal
f:ond uctivity of stainless teel is 50 Jm™ 5" °C" when the ketties are switched on, in which of the ot beeme
kettles will the waterreach its boiling points of 100°C. ?

(& ANCAY(3).(Clan . () (C)and(D)Only  (3) (B),(C)and{D)Only.

(4)\ All (A), (B),(C)and (D) (5) None. = ) it H {
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